
MOHIOJI YJIC

xeBCreJI afrivrnrfrH 3ACAr AAPrbrH
3AXI,IPAMX(

2"Lrl onu f1| caps,H ),f esep gy,^.p &lll ' Mepeu cyt',t

Oflon Merqannap uarHyyfl ax
caHan ynaMxnax tyxait

Monron Yncutn 3acar 3axnpraa, Hyrar 4sacreprilH HoDK, ryyHrafi yAupgnarbtH ryxafi
xyynilfiH 60 4yraap 3yhnnilH 60.1.19, 66 gyraap syilnuiln 66.1 gex xecrnfir ryc ryc yH4ecnoH
3AXI4PAM)KIIAX nu:

1. Tep HilfirgM, xegee ax axyfi, 6onoecpon, unHxnex yxaaHbt can6apr onoH xhrl
caHaaqnnra yp 6yreenrefi axunflax aMxunr rapracaH upregnilr Monron Yncun Teprafin geeg
oAoH Me.qafl nap uarHyynaxaap ynanaxuncyrail.

2. TeprfiH AoeA oEoH MeAannap uJarHyyflaxaap ynaMxnax hpreAufiH nepcnilr
xaBcpanraap barancyrafi .

3.[IJaruang Hep AoBlxnrugnila rogopxoilnonr, xon6orAox 6apurur 6u,trnhr Monron
Yncstu EpeHxrilnerevilu Tanltrutn ra3apr xypryynexui'r ahlirwha 3acar AaprbtH Taurux ra3ap
(e.Ynanlt- Ocex)- r yyper 6onrocyraft.
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